
(mg/L)
0.5000 0.0569
1.0000 0.1167
2.0000 0.2285

(mg/L) 
1.0000  0.1795  
3.0000  0.5201 
5.0000 0.8169

Cu Fe Mn Zn Cd Pb Na

(nm) (nm) (L/min) 

Cu 324.8 0.7 1.8 BGC-D2

Fe 248.3 0.2 2.2 BGC-D2

Mn 279.5 0.2 1.8 BGC-D2

Zn 213.9 0.7 2.0 BGC-D2

Cd 228.8 0.7 1.8 BGC-D2

Pb 217.0 0.7 2.0 BGC-D2

Na 589.0 0.2 1.8 BGC-SR 

6880  

(mg/L) 
0.5000  0.0968  
1.0000  0.1898  
2.0000  0.3800  

mg/L
y = 0.16277 x + 0.00913
r2 = 0.99939

mg/L
y = 0.11403 x + 0.00100
r2 = 0.99971

mg/L
y = 0.18900 x + 0.00170
r2 = 0.99997



(mg/L)
0.1000 0.0585
0.2000 0.1035
0.4000 0.2204

(mg/L)
1.0000 0.0567
2.0000 0.1119
4.0000 0.2160

(mg/L)
0.1000 0.0605
0.2000 0.1193
0.4000 0.2478

(mg/L)
0.1000 0.0678
0.2000 0.1297
0.4000 0.2558

mg/L
y = 0.05295 x + 0.00465

= 0.99978

mg/L
y = 0.62721 x + 0.00475

= 0.99998

mg/L
y = 0.54607 x + 0.00005
r2 = 0.99630

mg/L
y = 0.62693 x - 0.00375

= 0.999



Ag Al Ba Be Cd Cu
Mo Ni Pb Tl

A g 328.1  150  30  500 23  1800 4  

A l 309.3  150  30  1000 23  2400 3  

B a 553.6  150  30  600 23  2600 3  

B e 234.9  150  30  500 23  2200 3  

C d 228.8  150  30  400 23  2200 3  

C u 324.8  150  30  500 23  2200 3  

M o 313.3  150  30  800 23  2400 5  

N i 232.0  150  30  600 23  2300 3  

Pb 283.3  150  30  400 23  2000 3  

T l 276.7  150  30  700 23  2600 3  

( g/L)
0.0000  0.0039  
2.0000  0.2014  
6.0000  0.5895  
10.0000  0.9301 

( g/L)
0.0000  0.0035  
4.0000  0.0896  
12.0000  0.2846 
20.0000  0.4353 

6880

y = 0.02188 x + 0.00637
r2 = 0.99693

y = - 0.00114 x2 + 0.10435 x + 0.00159
r2 = 0.99993



( g/L)
0.0000  0.0129  
0.1000  0.0751  
0.3000  0.1971  
0.5000  0.3340  

( g/L)
0.0000  0.0041  
1.0000  0.1062  
3.0000  0.3052  
5.0000  0.4881  

( g/L)
0.0000  0.0034 
4.0000  0.0582 
12.0000  0.1727 
20.0000  0.2742 

y = 0.74415 x - 0.00542
r2 = 0.99908

( g/L)
0.0000  0.0039  
2.0000  0.2014  
6.0000  0.5895  
10.0000  0.9301  

y = 0.09689 x + 0.00789
r2 = 0.99943

y = 0.01361 x + 0.00461
r2 = 0.99927

y = 0.63961 x + 0.01086
r2 = 0.99922



( g/L)
0.0000  0.0051  
4.0000  0.1128  
12.0000  0.3282  
20.0000  0.5122  

( g/L)
0.0000  0.0145  
4.0000  0.0952  
12.0000  0.2763  
20.0000  0.4645  

( g/L)
0.0000  0.0090  
2.0000  0.1083  
6.0000  0.2876  
10.0000  0.4447  

( g/L)
0.0000  0.0032  
10.0000  0.2044  
20.0000  0.3570  
30.0000  0.5017  

y = 0.02259 x + 0.00929
r2 = 0.99938

y = - 0.00014 x2 + 0.02072 x + 0.00523
r2 = 0.99939

y = 0.04349 x + 0.01669
r2 = 0.99797

y = - 0.00018 x2 + 0.02899 x + 0.00321
r2 = 0.99985



As Se Sb

器: AA-6880

( g/L)
2.0000  0.0872 
4.0000  0.1581 
6.0000  0.2252 

( g/L)
1.0000  0.0311 
5.0000  0.1541 
10.0000  0.3169  

( g/L)
1.0000  0.0485 
2.0000  0.0988 
3.0000  0.1472 

y = 0.03450 x + 0.01883
r2 = 0.99975

y = 0.04935 x - 0.00053
r2 = 0.99988

y = 0.03179 x - 0.00217
r2 = 0.99974



( g/L)
1.0000  0.0171 
2.0000  0.0427 
5.0000  0.1092 

Hg

6880

y = 0.02283 x - 0.00454
r2 = 0.99910




